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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A
Question numbers 1 to 10 carry 1 mark each.

Which of the following number is an irrational number ?

(A) V23 (B) 225 (C) 0.3796

The coefficient of x2 in (2—3x2) (x2—5) is :
(A) -17 (B) -—10 < -3

A rational number between —3 and 3 is :
(A) O (B) —4.3
() -34 (D) 1.101100110001....

If a polynomial p (x) is divided by x —a then remainder is :

(A) f(0) B) (@ © f(-9)

Write the name of the quadrant in which the point (=3, —5) lies.
(A) First quadrant (B) Second quadrant
(C) Third quadrant (D) Fourth quadrant

Which of the following is the value of (\/T -7 ) (\/ﬁ +7 ) ?

(A) 13 (B) 6 Q) 7 (D) -6

If two parallel lines are intersected by a transversal then corresponding angles
are :

(A) Equal (B) Complementary

(C) Supplementary (D) Sum of the two angles is 360°

The number of parts, the coordinate axes divide the plane are :
(A) Two parts (B) Four parts (C) Six parts (D) Eight parts

Two complementary angles are in the ratio of 4 : 5. The angles are :
(A) 90°, 90° (B) 40°, 50° (C) 30°, 150° (D) 45°, 45°

In figure 1, ZPOR=3x and ZQOR=2x—-10. The value of x for which POQ is a straight
line, is :
R

2x—10
< }
p O Q
Figure 1
(A) 38° (B) 30°

>
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SECTION - B

Question numbers 11 to 18 carry 2 marks each.

Find the zeroes of the polynomial 3x%+x —2.

Evaluate suitable identity : (999)3.

In figure 2, OA, OB are opposite rays and ZAOC+ £ZBOD=90°. Find ZCOD.

C

Figure 2

OR

In figure 3, if a ray OC stands on the line AB such that Z AOC= £ COB, then show that
Z AOC=90°.

Figure 3

Prove that measure of each angle of an equilateral triangle is 60°.

In APQR, ZP=100° and £ZR=60°. Which side of the triangle is the longest. Give reasons
for your answer.

Factorize : 125x3 +27y3.

2
Rationalise the denominator m
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18. In figure 4, find the values of x and v.

Figure 4

SECTION - C
Question numbers 19 to 28 carry 3 marks each.

Simplify the following by rationalising the denominators.

243 N 32
J3-\2  B+2

OR

V3 +42
V3 -2

Represent /5.4 on the number line.

If a +b/6 , then find the values of a and b.

In figure 5, AABC is an equilateral triangle with coordinates of B and C as
(—4, 0) and (4, 0) respectively. Find the coordinate of the vertex A.
y

AA

/

Figure 5

940125 - B2




22. In figure 6, QT L PR, ZTQR=60° and ZSPR=40°. Find the values of x and y.

Figure 6

23. Infigure 7, prove that p || m.

Figure 7

1
If x =+/13 — 23 . Find the value of x + e

OR

1
If a=3+ 22, then find the value of aZ — — .
a

Find the values of p and q if the polynomial x* + px3 + 2x2 — 3x + q is divisible by (x—1) (x+1).

Find the area of the triangle whose two sides are of measure 13 cm and 14 cm and perimeter
is 42 cm.
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In figure 8, ZB=55° £ C=45° and the bisector of ZA meets BC at D. Find ZADB and
ZADC.

55° 45%,
B D C
Figure 8

In figure 9, the perpendicular AD, BE and CF drawn from the vertices A, B and C respectively
of AABC are equal. Prove that the triangle is an equilateral triangle.

A

H
D C

Figure 9

OR

Prove that medians of an equilateral triangle are equal.

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

Gimplify 20,62 83
TP R B e +B Yo 2

e e R

(a-b) + (b—c) + (c—a)’

Simplify
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In figure 10, ZBCD= ZADC and ZACB= ZBDA. Prove that AD=BC and ZA= ZB.

A
B

Figure 10

OR
In figure 11, if AB=AC and DB=DC then prove that ZABD= ZACD.

A

Figure 11

If a2+ b2+c2=250 and ab+bc+ac=3. Find the value of a+b+c.
OR

Factorize : 2y +y?—2y—1.

P is a point equidistant from two lines [ and m intersecting at a point A. Show that AP
bisects the angle between them.

In figure 12, AB is a line segment. P and Q are points on opposite sides of AB such that each
of them is equidistant from the points A and B. Show that the line PQ is the perpendicular
bisector of AB.

P

Q
Figure 12
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Qug - A
TV HEAT 1 ¥ 10 ek Yk U9 1 3k HT ¥
frefafed # ®F 9@ gen ol g
(A) V23 (B) 225 (C) 0.3796

(2—3x2) (x2—5) H x2 1 TOTH T :
(A) —17 (B) -10 (C© -3

— 3913 % o9 T 9T @ ©
(A) 0 (B) —43
(C) -34 (D) 1.101100110001....

I TEIR p (x) Fl x—a F WFT AT ST § o 9 ®
A) O (B) f() Q) f(-a)

fomg (=3, —5) o agefer & € ST M & -
(A) g9 =g (B) fgdta =gaia
(C) it =gt (D) =qd =qufa

frefafad § %M &1 (V13 - V7) (VI3 + V7) i aA ? :

(A) V13 B) 6 © V7

Ife ) TG @13t 1 T fade W gfaese it & O 9d S0 8 ©

(A) R (B) =
(©) w= (D) TMI T AN 360°

s e1efl g qu qt Fre st # faenfea & S 2
(A) e A (B) = i & (© B i H

T YT B4 ;5% STAM B E Al R0 R
(A) 90°, 90° (B) 40°, 50° (C) 30° 150°
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APfa 1, L POR=3x 3R L QOR =2x—10 Tsl x &1 8 AH fe ferd POQ T Wt Y@t §
B

Q) 0°
@ ue -

WY WE&AT 11 W 18 Tk Yeeh W 2 3iehl T B

TGS 3x2 +x —2 % IEH A1 I |

ST Had T FH TART Hleh T G HIWT : (999)3 |

i 2 ®, OA @2 OB fauwdia fwol § aen L AOC+ ZBOD=90°. £ COD %1 HM A i |

C

D
A

(@)
Tpfd-2

EPEN
atRfa 3 #, afe W1 AB W 0 OC 38 ¥&R & fF L AOC= £ COB @ g¥1isy f £ AOC = 90°.
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TUFEE HIST @ 125x3 + 2713,

2
%quﬁ'ﬁ?ﬁw?ﬁﬁm:m.

HATHTd 4 H, x T y 1 AH 1A HISC

©us - |
U9 WEAT 19 ¥ 28 9o Uleh W9 3 3kl T T
B 1 IR e 1 &l T SIS

243 N 32
J3-2  B+2

YA

B3 +4V2

RN

a+by/6,dad b AH @ SIS

20. /5.4 F HEA W@ R FEYT ST
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3Tpfa 5 H, AABC T HHag fys €1 fog B C & fadenias (—4, 0) 92 (4, 0) ¥ 1 3 A & e
1 RIS |

s

3Thfd 6 #, QT L PR, Z TQR=60° 3R £ SPR=40°. x qT y 1 A F1d T |

S
Thfd-6

sTpfa 7 #, fag T ff p || m.

p m
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'Qﬁx=\/ﬁ—2\/§?ﬁx+%wmﬂﬁaﬁﬁ'ql

AT

1
aAME a =3+ 242, a® — — 1 A @ Hif |
a

Il Igus (x—1) (x+1) E|§‘3IT‘£3644—px3—|r2xz—3x+qTﬁ fawifsra =vear & @ p dUT q =T HE J1d
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A

55° 45°

D
ST fd-8

B C

3Tfa 9§, AABC H, 3 fog A, BAem C & T/t 7T &al SH: AD, BE 9 CF 99M €| fag sifsie
fF ABC & Tmerg fays 21

A
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D
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B C
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Qg - q

U9 WEAT 29 § 34 Tk Uk U9 4 3ihl T T

26, 62 883
V2+3 e +V3  Je++2°

Wﬁﬁl‘l{:

I et R et

A I (a—b)3+(b—c)3—|-(c—a)3

amfd 10 ¥, £BCD= ZADC 3R ZACB= /BDA, fig ®IfVu f& AD=BC 721 L A= /B.

A

FHA-10
3rerar
st 11 ®, afg AB=AC 3R DB=DC @ fag =ifse f& £ ABD= £ ACD.

A

FfA-11

AfC a2+ b?+c2=250 3R ab+bc+ac=3 @ a+b+c H TF Fd HIfWT |
YT

UGS JA HIST @ 23 +y2— 2y —1.
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